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AH{(H,0,,,) = -286 kJ/mol
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- 5AH{(C-H) - AH}(C-C) - AH{(C-N) - 2AH (N-H)
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0.25 Qcal = C cal '(Tf - Tl )

> Q=Q+ my (T, -T,)+Cy (T, -T,)=0

QI' = -(msol -C +Ccal )( Tf _Tl )
0.25 Q, = -(100 x4,185+100 )x(308,5 - 298)

Q, =-544425]

1 : AH; zlsiul (2
0.25 M =243+16=40,3 gmol”
C w0 L LS 500 102 mol
0725 nMgO - M—N@ & m - X mo
-3
025 AH: _] Qr _ - 5444,25)(10
o Mwo 372107
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- M Je il el ded (3
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025 lx[Hz(g) T 50 — H 00 AHsj
0.25 g
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1 ;
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025 AH (MgO) = - (—146,35)+(~461,95)+ (=242) + (=44)
° -1
AHf (MgO(S)) —601,6 kJ.mol
(1
0.75 - Jsaall JS) (1
P.V. 5 -3 A
0.25 T1= 1 1=10 x12x10 _ 288,66 K 3‘ ﬂzﬂjTl:Tz.Vl:433><12:288’66K
nR - 0,5x8,314 T T, V, 18
0.25 P,=P, =10’ Pa
0.25 V,=V,=18L
(DA QA ]  (3) AW
Lazl (Pa) P=10° | P,=10° | P,=2x10°
a1l (L) V=12 | V,=18 Vv, =18
sl allda (k) | BT288060 T =433 | T, =866
1,75 b sa odsalls )l el s 5 Jeall Cla (2
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1 P=Cte 2
0.25 Q,., =n.C,(T,-T)
g-gg Q,, =0,5%20,78x (433 —288,66) =1499,7 J
0.25 W, =-P.(V,-V)
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